> A
A & 0l & AF 2 E A A
20229 &= = 0lat LB &
S DSSAD
M HY2IZH (s
¢hel: JE2IH (S840 (Sl & &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
WA 33,592,160 21,274,846 12,317,314
= 9,163,825
s 450,000
Al 10,691,115
= 10,787,220
T 2,500,000
HE2IAZH (s 89,842 47,741 42,101
EIH (s A 57,051 9,853 47,198
A (s A 57,051 9,853 47,198
101 @124l 55,462 9,853 45,609
02 JIEtE B = 44,278 0 44,278
OAZtH e AJH(CIS) BMDF A 44,278
—Jlas 3,245,883 1@ «11& 35,705
—ExY 40,0003 x 18 «118 440
—ANZLZR=E 10,9522 «1H«30AI 2t+113 3,615
— HHZ A 140,000& 1H 112 1,540
— ot 4l
3,245,833 x84%*86%x1/30%1/7*70 Al 2+ » 1 782
—s4moLg
3,245,833 x40/35%84%*5%* 124 112 1,714
— H2rgt=Hl 50,000 *35/40A1 2t x 12«11 & 482
03 2R (RIAHA)2Z2NHE S 11,184 9,853 1,331
OOISSEAAB2IA(RRE) 0121 11,184
b LR
11,1773 %1 5% 16 A1 2hx 12 128 3,219
PR =E = 11,1773 «8AI 2t 1H «10 895
— = Al 140,000 18 122 1,680
- &= 40,0003 »1H « 128 480
— BE S| 2,166,0603 «60%* 1H »23| 2,600
—32=4 2,166,060 x45%* 1 x23| 1,950
—dZ2+E Jiit=s 30,0003 x1H » 12 360
204 MR F | 1,589 0 1,589
02 252 Xl 1,589 0 1,589
OAZtHE AJH(CIS) BMDF A
165,000 *35/40A1 2+ 1« 112 1,589
JleZul(nsesal) 32,791 37,888 A5,097
Jl2dgl(nssal) 32,791 37,888 A5,097
201 2Bt2 Y| 18,571 15,238 3,333
01 At 22l 18,571 15,238 3,333
ORAN2ELE=EH| 9,443,000& *95% 8,971
OJlege=dE20A 9,600




S DSSAD
M HM2HAH (WSS AW
Sl IS Y (RS AD) CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
— 2" & 8,000 x17H x53| x12& 8,160
— J|EFE 8,000 x3H x53| x12& 1,440
202 o4 | 10,800 19,800 A9,000
01 2L I 10,800 19,800 A9,000
OJlegsdi=&2 0| 10,800
— UL 60,000& 15 x12& 10,800
203 ¥R =&t 3,420 2,850 570
04 FEASEYIFFEH| 3,420 2,850 570
OEMNSIgELEF=8H| 300,000 x12& *95% 3,420
orsEX & 17,522,464 14,125,128 3,397,336
= 8,830,490
Al 6,814,765
- 1,877,209
Ots=XAIE X & 5,537,670 4,402,175 1,135,495
= 563,478
Al 4,530,790
- 443,402
OFsS=EXAE X 4,156,691 3,174,912 981,779
Al 4,107,842
- 48,849
201 gBt24d| 192 192 0
01 AP 2t 2| H| 192 192 0
OUsS=Z2XAIE AEHYE D52 SdH=
6,400 303/ 192
301 et M3 24,000 32,000 A 8,000
Al 24,000
01 Al E& A 252 24,000 32,000 A 8,000
OIS EXAILE EA0E ANEHE2Z XS
8,000,000 »3H 24,000
Al 24,000
307 212t0| & 4,132,499 3,142,720 989,779
Al 4,083,842
- 48,657
10 M SXANEEHESIHEX 3,899,817 2,912,420 987,397
OOs=2XAIE 2 XS 3,824,627 ,000& 3,824,627
Al 3,824,627
OOts=XAIE SAMAXNF SXNE=x 12,700,000 12,700
Al 12,700
OOsS=EXAIE SAMI SeAH2ZXH &
200,000& x43H 8,600
Al 8,600
OOsS=2XAIE SAMI §HE S8 29 XS
5,890,000& 5,890
Al 5,890




SN DA
M Ots=X &
& OsSEXALXE (&)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
OO0ts=EXAIE SAX SEH ¥ 22l =H
X 48,000,000& 48,000
Al 48,000
11 ASI S AAEE = 232,682 230,300 2,382
OOts=XAE Z203d| XI&
230,342,000& 230,342
Al 181,685
T 48,657
OO0ts=XAIE Ots A2 AH X
30,000 »78H 2,340
Al 2,340
Ots=EXNAE JIsEZAS 20,790 0 20,790
= 10,395
Al 10,395
402 QI2H X201 M 20,790 0 20,790
= 10,395
Al 10,395
02 QI EAIL EZ (01X THS) 20,790 0 20,790
OOts=RAE JIsELAY 20,790,000& 20,790
= 10,395
Al 10,395
QES0E O8E 29 (=34l) 225,907 178,326 47,581
= 90,363
Al 135,544
307 glz2+ol & 225,907 178,326 47,581
= 90,363
Al 135,544
10 ALSISXAIEEE2EHEX 225,907 178,326 47,581
OREs0s 088 23 225,907,000& 225,907
= 90,363
Al 135,544
RESOls 88 23 79,997 64,780 15,217
Al 79,997
307 21201 A 79,997 64,780 15,217
Al 79,997
10 M2 SXNANEHE2IHEX 79,817 64,510 15,307
OZSSHEINH(OEE) SAMA dSEAH
71,467,000 71,467
Al 71,467
OSSHEINY(OAEE) AN EXNE*
1,150,000 1,150
Al 1,150
OZSSHEINH(OEE) SMA SZH L 22
o =g 6,600,000 6,600
Al 6,600
OZSSHEINNH(OEE) BSAMA SEZ A
200,000& »3H 600




S DESAD
g ots=X s
& OsSEXALXE (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Al 600
11T M SRAIS EX 180 270 A 90
OZSHEINE(OEE) Ots A2 Z &Y
30,0003 x6H 180
Al 180
NEotsdle 238 K& 267,600 256,080 11,520
= 133,800
Al 66,900
- 66,900
307 glz2tol & 267,600 256,080 11,520
= 133,800
Al 66,900
- 66,900
10 AL SXAIEEE2EH EX 267,600 256,080 11,520
OXdotsd e 298 XA 267,600, 000& 267,600
= 133,800
Al 66,900
- 66,900
X oOlSHE 298] XIS (A, XHA) 284,541 242,945 41,596
Al 86,707
T 197,834
307 212+0| & 284,541 242,945 41,596
Al 86,707
T 197,834
05 RIZt2IE = 109,800 109,800 0
OFE XNYotsHdEe X 109,800
— 78 F0XY0ots4dE  4,800,000& <12 57,600
— 78 HetXdorsdE 4,350,000 <123 52,200
10 AL SXNAIEEE2EHEX 145,363 105,742 39,621
OXYotsdH SA&<20 XA 14,173
— JAFHIIXEO0t=s 4 E 14,173,000& 14,173
OXY0otsdE SALA =288 XA
129,340,000& 129,340
Al 64,670
- 64,670
OXZotsdH BAX SXE> X
1,450,000 1,450
Al 1,450
OXY0tsdEH SAA SgA232H XA
400,000& 400
Al 400
11 ALS S XAEE = 29,378 27,403 1,975
OXdotsdH 5838 X 11,883,000 11,883
Al 5,942
T 5,941
OXNYotsHy Z20d8d XN& 6,500,000 6,500
Al 3,250




S DSSAD
HEM: OlsSA &
e OIsSESXAIEXE (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
- 3,250
OXNY0tsHEH 0lS0ls H22A8 HE K&
2,100,000& 2,100
Al 2,100
OXY0otsHEH 0lS0ls 0IMHX X 0tA3
X & 1,230,000 1,230
Al 1,230
OXNdotsHH 2stdsgss AH
4,000,000& 4,000
Al 4,000
OXY0otSHE “ 10t29o 2" XA
1,290,000 1,290
Al 1,290
OXNYotsHH SSHA U XNEAY
935,000& 935
Al 935
OXNotsHEH iz &8 XNAY
1,440,000 1,440
Al 1,440
NE0otsSHEH JIsE22AIEH K& 4,336 1,923 2,413
307 2Iz2t0| & 4,336 1,923 2,413
05 QIZ2tREF 2 4,336 1,923 2,413
OFg XY0tsHdH Jls22AdH N
4,336,000 4,336
OtsS=EX WA A XA 76,784 74,998 1,786
= 38,392
Al 19,196
- 19,196
101 e1214| 76,784 74,998 1,786
= 38,392
Al 19,196
- 19,196
04 JI2ZtHIZ22NEES 76,784 74,998 1,786
O0l== Xl WA 21 2A4H| 76,784,000 76,784
= 38,392
Al 19,196
5 19,196
FAHES OIS ESMEIA XK (ZH|) 363, 160 353,325 9,835
= 290,528
Al 21,790
- 50,842
101 Q121 H] 155,557 151,860 3,697
2 124,446
Al 9,333
- 21,778
03 2 (RIHAY)Z22E 29,011 31,760 AN2,749
OO0l S Atd22IAHZ2R) ol
29,011,000 29,011
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2N
X ZH -
L= B

el

M- B8-S (3H) - HRAY - BES il 2
= 23,209
Al 1,740
T 4,062
04 JIZHHZ2XREE S 126,546 120,100 6,446
OOt S &t Atell 22l AH(DI2EHI) I 24 8]
126,546,000& 126,546
= 101,237
Al 7,593
T 17,716
201 L2l 149,525 147,330 2,195
= 119,620
Al 8,972
- 20,933
01 At 2t 2l 31,277 29,882 1,395
OCSEAEE detx>8H| 21,395,000& 21,395
= 17,116
Al 1,284
- 2,995
OEEAEE fEW=HI 2,570,000& 2,570
= 2,056
Al 154
T 360
O= &l 8,000 x5 +6.5 x12& 3,120
= 2,496
Al 187
2 437
Odxz (=4Il 8) 349,300 »12& 4,192
= 3,354
Al 252
T 586
02 =224l 7,748 6,948 800
OCHAEE 2323 6,780,000 6,780
= 5,424
Al 407
- 949
OLEEAERE XteEsXdl 968,000 968
2 774
Al 58
T 136
03 A2 Z Hl 110,500 110,500 0
OEHAERE #A2EH| 41,500,000 41,500
= 33,200
Al 2,490
- 5,810
OLEAERE T8 ZA=E 69,000,000& 69,000
= 55,200
Al 4,140
T 9,660
202 o4dl 6,540 6,540 0




S DESAD
g ots=X s
& OsSEXALXE (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
= 5,232
Al 392
T 916
01 = LH o4 1l 6,540 6,540 0
OEEAEE Atdll2tel 230l
10,0003 x5 «75|«12& 4,200
= 3,360
Al 252
T 588
OEEAHRE W=sOHH S 2,340,000 2,340
= 1,872
Al 140
- 328
301 LeHBAF 47,095 47,595 A 500
= 37,676
Al 2,826
- 6,593
01 Ml28E 6= 38,095 38,095 0
OLEEARE Z2 3 XAY| 38,095,000& 38,095
= 30,476
Al 2,286
T 5,333
09 HALAHIXI &3 9,000 9,500 A 500
OEHAERE #AMHXNAS 9,000,000 9,000
= 7,200
Al 540
- 1,260
04 HIRESS 4,443 0 4,443
= 3,554
Al 267
- 622
01 A3 EEZ3 1,809 0 1,809
OOtsSEAMAZRA(ZRE) I VASRES
1,809,000 1,809
= 1,447
Al 109
- 253
02 SCALEES 1,568 0 1,568
OOCtSSEAMA LIS RE) ZUALEES
1,568,000 1,568
= 1,254
Al 94
- 220
04 SR (RIHLY)2ENLEBEZRELESS 1,066 0 1,066
OOtSSEAMAZCAHSRE) D&, M4WEE
=2E=s 1,066,000 1,066
= 853
Al 64
T 149
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HEM: OlsSA &
e OIsSESXAIEXE (2 &HH)
5 - 4
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
CEAEE A2 (A 55,445 51,238 4,207
101 Q124 H| 19,186 8,480 10,706
04 JI2ZtHIZ22 NEES 19,186 8,480 10,706
QOt=S et At 22l AH(DI2HRI) el A HI 19,186
— g Al 140,000& x4H «12& 6,720
—Jtmay
(120,000 23 « 122 )+(40,000 «1H 128 ) 3,360
— @A S| 1,834,400 »60%*4H «2 3| 8,806
— X E 300,000& 300
201 LBt 10,700 16,700 A 6,000
01 AP 22| H| 3,000 3,000 0
OEEAEE 2Bt E2H| 1,500,000 1,500
OEEAEE 22X 1,500,000 1,500
02 E2=2=24%H| 7,700 13,700 A 6,000
OEEAEE &S X 500,000& 500
OEEAEE A44SR XH| 600,000& x12& 7,200
202 044l 501 1,000 AN 499
01 2Ll 501 1,000 AN 499
O0tsS =2 X WA At 22l =& 0|
10,000 x1H x4 178 x12& 501
301 et ™= 15,058 15,058 0
01 Al E& A 52 15,058 15,058 0
QOEEAEIE Tz )X & 15,058,000 15,058
307 2iz2to| A 10,000 10,000 0
o1 s R=dl 10,000 10,000 0
OEEYAEIE 9 2H & XN 10,000,000 10,000
NEotsHEH 2gsts A =20] A& 2,419 0 2,419
Al 2,419
307 QI2t01 & 2,419 0 2,419
Al 2,419
10 MM SAANEEHESIGHEX 2,419 0 2,419
OX<E0tsHdyH gtz 2AE200 XA
2,419,000 2,419
Al 2,419
MNASESE OlssSA NS 2,042,355 1,312,088 730,267
= 331,532
Al 898,363
- 812,460
Z2A0ls AKX 1,457,540 930,000 527,540
Al 728,770
- 728,770




S DSSAD
g ots=X s
g2 NASE 0tsSX X (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
301 LEHZ 1,457,540 930,000 527,540
Al 728,770
- 728,770
01 MEI2EZE 45z 1,457,540 930,000 527,540
OZAlots A XA 1,457,540,000& 1,457,540
Al 728,770
- 728,770
YAOISIERNA (LA E XE) 2,700 2,700 0
= 1,890
Al 810
307 glz2+ol & 2,700 2,700 0
= 1,890
Al 810
11T MISAASER 2,700 2,700 0
ogddlE K& 2,700,000 2,700
= 1,890
Al 810
AAOISIHFXN (L Yots =02 XH) 84,600 91,800 AT7,200
= 59,220
Al 25,380
301 LeEBAF 84,600 91,800 AT7,200
= 59,220
Al 25,380
01 MI28HE+06l= 84,600 91,800 AT,200
Ogdots =4 XA 84,600,000& 84,600
= 59,220
Al 25,380
AAOISIHEXN (HUOISLEEETS ) 6,611 1,550 5,061
= 4,629
Al 1,982
301 LEAZ 6,611 1,550 5,061
= 4,629
Al 1,982
01 MEI2EZE 406z 6,611 1,550 5,061
OZMotsLEExS XN 6,611,000& 6,611
= 4,629
Al 1,982
LAOSIEXNJ (L= 2X XE) 700 1,400 A700
= 490
Al 210
301 LA F 700 1,400 A700
= 490
Al 210
01 MEIBEE 253 700 1,400 A700
Oga=efii2 2% X 700,000& 700




2N
X ZH -
L= B

el

- _ _ RE]
M- o9 (B H) - MEAY - B2 %Eﬁ HR=2
= 790
Al 210
I/ EsE AelX 2,200 ,200 0
= 1,540
Al 660
QuteE N 2,200 ,200 0
= 1,540
Al 660
01 A3 E & ol = 2,200 ,200 0]
OYY IFIAOLS &
2,200,000& 2,200
= 1,540
Al 660
S=PNED;| 238,734 ,398 130,336
= 167,114
Al 35,810
- 35,810
QBteE N 238,734 ,398 130,336
= 167,114
Al 35,810
- 35,810
01 A3 E & ol = 238,734 ,398 130,336
OREs =y 238,734,000& 238,734
= 167,114
Al 35,810
- 35,810
g 3o 2,800 ,800 0
QErE A 2,800 ,800 0
AP 22| 2,800 ,800 0
Oots=s e 3 70,000& *40H 2,800
HQoIE & XI& 122,800 84,840 37,960
Al 77,720
5 45,080
UBIEH I 122,800 84,840 37,960
Al 77,720
5 45,080
01 M EXEE 45612 122,800 84,840 37,960
OA2AEAHIAE & f=Hl K&
81,600,000 81,600
Al 57,120
- 24,480
OA2d"AHIIAE S 41,200
— &A= 2,000,000& 2,000
Al 1,000
- 1,000
— Xtg = 32,000,000 32,000




S DSSAD
g ots=X s
2 MASSE ots=X N (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 16,000
T 16,000
—sd3dl & +=so ey 1,800,000& 1,800
Al 900
- 900
— S 5,400,000 5,400
Al 2,700
- 2,700
BSEZ0S(AME, MHEE) HEgaY X2 100,800 86,400 14,400
2 80,640
Al 20,160
301 LEd = 100,800 86,400 14,400
2 80,640
Al 20,160
01 MI2EZE +06l= 100,800 86,400 14,400
OBSZE20s (A4, II32E) JeEs+d X2
100,800, 000& 100,800
= 80,640
Al 20,160
IERASE0ls 820tsE3H XN 9,000 0 9,000
= 6,300
Al 2,700
301 EEH = 9,000 0 9,000
= 6,300
Al 2,700
01 Ml2ZE 6= 9,000 0 9,000
OJ&Efe dEotsE23H A& 9,000,000 9,000
= 6,300
Al 2,700
ots8s35 7&d X& 1,000 0 1,000
= 700
Al 300
301 LEAZ 1,000 0 1,000
= 700
Al 300
01 MEIBEZE 06z 1,000 0 1,000
O0ls83 4l XI& 1,000,000 1,000
= 700
Al 300
FAHEXS0ts HEE Atell2el 12,870 0 12,870
= 9,009
Al 3,861
301 LA F 12,870 0 12,870
= 9,009
Al 3,861
01 AR 2Z A5 3 12,870 0 12,870
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Ot =X &
MHASE Ots=X X (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OZHEXsotsS XSS Atdll 2l
12,870,000& 12,870
= 9,009
Al 3,861
s AN 9,840,800 8,403,000 1,437,800
= 7,872,440
Al 1,377,732
- 590,628
Ots+=€ 203 9,838,800 8,400,000 1,438,800
= 7,871,040
Al 1,377,432
- 590,328
301 LEd = 9,838,800 8,400,000 1,438,800
= 7,871,040
Al 1,377,432
- 590,328
01 MI2EZE 06z 9,838,800 8,400,000 1,438,800
Ooots+=% SHA= 9,838,800, 000& 9,838,800
= 7,871,040
Al 1,377,432
- 590,328
XXM AIEH X2 (ots+2 2Z4l) 2,000 3,000 21,000
= 1,400
Al 300
T 300
201 L2l 2,000 3,000 1,000
= 1,400
Al 300
T 300
01 At 22l 2,000 2,700 A700
OO0lS4+< XNXMAIH XA (2EH)
2,000,000& 2,000
= 1,400
Al 300
T 300
23 & stiiots Ad 54 101,639 7,865 93,774
= 63,040
Al 7,880
T 30,719
OtsE2sdged X 78,800 7,865 70,935
= 63,040
Al 7,880
T 7,880
101 @124 dl 63,800 7,865 55,935
= 51,040
Al 6,380
T 6,380
02 JIEtE B = 63,800 0 63,800
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OESsxXZE & Ot 2AZHIS XNE
3,500,000& 3,500
= 2,800
Al 350
= 350
OEsiiaols & RAJIE & ¥
3,500,000& 3,500
= 2,800
Al 350
T 350
OISEsdE 2 X2 (XHH) 16,623 0 16,623
101 @14 Hl 13,578 0 13,578
02 JIEt A2+ 13,578 0 13,578
OANZIEEH LI M2 (s EESHE2A) 13,578
—JtE+=E 60,0003 x2H 128 1,440
— ANt 2R4Y 8,887 20 22+ 128 4,266
— HAZ A 140,0002 %2 + 122 3,360
—samosy
2,118,250 x40/35%84%*5%*2H » 122 2,441
— &=t 50,000 #35/40+2% 122 1,050
— HJtE &HHl
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— 2 AFIH MI& 600,000& 600
—=282 MF 200,000& 200
— AR Y] 300,000& 300
204 HR=HAH| 1,200 0 1,200
03 EZYFZHI 1,200 0 1,200
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M- =8 s (3) - HRAMY - BES e 2
301 LEHZ 9,616 1,820 7,796
= 8,230
- 1,386
0B A =R RAB A4S 9,616 1,820 7,796
OMI=E22AZBAZ(38I) 8,230
- 20 (Ex+usHl) 7,921,000 7,921
= 7,921
— I =l 309,000 309
= 309
OAZ =22 B A3 () 1,386
— SA| 7,000 1«22 9 1,386
307 glz2tol & 220,000 192,048 27,952
Al 75,000
T 145,000
05 RIZHRI &t 3 220,000 192,048 27,952
O&ad MdEEXHH 298 XA
150,000, 000& 150,000
Al 75,000
T 75,000
OHAW NYENME 22 2 X ()
70,000,000& 70,000
405 RHoHF S HI 12,211 2,600 9,611
01 et EZFH S 12,211 2,600 9,611
OAMREIH 10,970, 170& 10,971
OPC #& 1,240,000 1,240
AEHMY AX X & 184,100 180,940 3,160
= 92,050
Al 46,026
- 46,024
307 gl2tol & 184,100 180,940 3,160
2 92,050
Al 46,026
- 46,024
05 RIZHRI & 3 184,100 180,940 3,160
O&Fad otz = XA 98,650,000& 98,650
= 49,325
Al 24,663
- 24,662
OFAH ot x5 X2 (22)
85,450,000& 85,450
= 42,725
Al 21,363
- 21,362
FA4E e Z20Y 29 71,068 59,840 11,228
= 30,324
Al 20,372
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- 20,372
gIztol & 71,068 59,840 11,228
= 30,324
Al 20,372
T 20,372
QItRAE = 71,068 59,840 11,228
O&A4E IULN Z208 29 35,534,000 35,534
= 15,162
Al 10,186
- 10,186
OFAHE S Z2 )W 2 (24)
35,534,000 35,534
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Al 10,186
- 10,186
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O EZH0EAY =22 HME 1,000,000 1,000
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gIztol 15,000 15,000 0
QItAE = 15,000 15,000 0
Ot =AMLY N (HaHASSIHH)
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XM E0IA 80,000 0 80,000
08 WSII 0SS = 80,000 0 80,000
OSWEANBAIG XA (2 22stw)
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g a4 XNJAY 130,395 84,517 45,878
= 89,135
Al 19,100
- 22,160
L2 H Y| 1,820 0 1,820
AtS 2t el i 1,820 0 1,820
Ostm 9 BAE NAAAS Hacg
70,0003 x13H #23| 1,820
QI2tol & 127,335 84,517 42,818
= 89,135
Al 19,100
- 19,100
QA= 127,335 84,517 42,818
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= 89,135
Al 19,100
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405 XHoHF S HI 1,240 0 1,240
01 XY 2 ZFH S| 1,240 0 1,240
OPC #¢& 1,240,000& 1,240
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= 5,280
Al 6,180
T 6,180
307 glz2+ol & 17,640 11,880 5,760
= 5,280
Al 6,180
T 6,180
05 RIZHRI & 3 17,640 11,880 5,760
Ostu 9% #2449 S4H N3 17,640,000& 17,640
= 5,280
Al 6,180
- 6,180
st & AW XNJMEH SAML HSHLH X 8,588 13,661 25,073
Al 2,850
- 5,738
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- 5,738
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| & 5,700,000 5,700
Al 2,850
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= 24,650
Al 43,069
T 43,069
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301 LEHZ 110,788 40,240 70,548
= 24,650
Al 43,069
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OW&FEA Y MR8 X2 MS(HAES)
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T 12,325
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01 A& HI 3,400,050 0 3,400,050
OFAEHALE EFAY 3,400,050, 000& 3,400,050
Al 3,400,050
03 A& =2 THHI 5,400 0 5,400
OFL2E=AHANLE ESAS 5,400,000 5,400
Al 5,400
HMstsE Al 24 2,953,300 79,960 2,873,340
- 453,300
T 2,500,000
BMSIET Al 2Zet = 2,953,300 79,960 2,873,340
T 453,300
T 2,500,000
EMIS QlZet H 299,300 12,960 286,340
201 Let2d] 49,300 12,960 36,340
01 At 22l 49,300 12,960 36,340
Ogdsrs dud M 10,000& 1002 1,000
OZMsets Ao ety 822 HI&
2,500,000& »43| 10,000
OBMWEEES 3o &M
70,0003 x9H +23| 1,260
OuesAT B9 BALY
70,0003 x6H » 123 5,040
O2022E@ RelsUl NAZTE BENE 29
10,000, 000& 10,000
OBduE 23d=s==z0g 29
3,000,000 =44 2 12,000
OEMusI|I2 8 M 400,000 254 2~ 10,000
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207 & O] 250,000 0 250,000
02 & AR I 250,000 0 250,000
O =37 WsEE 25 250,000, 000& 250,000
gdsts AE A 29 154,000 67,000 87,000
201 L4l 12,000 2,000 10,000
03 &Ar2 I 12,000 2,000 10,000
OB M sAEUS &t 2,000,000& 2,000
Os¢g tissgsy T2 22
5,000,000& *204 = 10,000
307 21201 A 115,000 38,000 77,000
02 ItFAAFE R 115,000 38,000 77,000
OBMsEL+T2IY X&
3,000,000 =74 J| 2t 21,000
Oddstssotel A& 1,000,000& 1200 & 12,000
OO0 XI & At 10,000,000 *1JH £ 10,000
Ogduw=sIla 278 X&
8,000,000& *9I4 & 72,000
308 XXIEHH SO0l A 27,000 27,000 0
07 IXNSHHAURE = 27,000 27,000 0
Ol =s2s =22d N&
45,0003 *600H 27,000
Hasts2t HE 2,500,000 0 2,500,000
H 2,500,000
401 Al HIZ 2018 2,500,000 0 2,500,000
H 2,500,000
01 A& HI 2,500,000 0 2,500,000
Ogdsiga A8 2,500,000, 000& 2,500,000
T 2,500,000
STUMHEXNH & SIS 7,592,698 6,348,066 1,244,632
s 450,000
Al 215,000
- 6,927,698
228ty A= 5,899,443 5,569,811 329,632
T=E=2 usEZE =4 2,160,314 2,137,781 22,533
201 et 10,160 10,120 40
01 At 22l 8,660 8,620 40
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=R R = 70,0003 x5 %23 700
OAZsD L4ty THE HE
20,000& *40H 800
Ot BotAlY £7 2 £2F 7
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OHgeXl == Uzl M= 4,840
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— &Y 30,0002 28K 840
02 2324l 1,500 1,500 0
ORERS 1,500, 000& 1,500
203 & 2 =&l 950 950 0
03 AIF=XH R =AY 950 950 0
Ousia g2 =& 1,000,000& *95% 950
308 XXM SO0l A 2,149,204 2,126,711 22,493
08 WEII20HStE X 1,946,780 1,924,728 22,052
OozU 2238w WAL X
1,500,000, 000& 1,500,000
OugH 2ans X 246,780,000 246,780
Ogtw TAH2 HUAM XA 200,000, 000& 200,000
QA -7 WEHIELESH HIEFHES 202,424 201,983 441
O1nW AU 202,424,000 202,424
st SAH XI& 3,739,129 3,432,030 307,099
308 XXM SOIA 3,739,129 3,432,030 307,099
08 WFJ 20Ut = 3,739,129 3,432,030 307,099
OZERIE Radas4 XA 108,130, 000& 108,130
OMESRIH 2434 XA 203,621,000& 203,621
Oxssu R2ads4 XA 1,351,031,000& 1,351,031
Ozstn RagA XA 779,440,000 779,440
ONEEW ZAZA X2 1,296,907,000& 1,296,907
ERDSSNNT2Y 793,255 778,255 15,000
Al 215,000
- 578,255
NAAS DI Dt2nEs3sHES 763,000 748,000 15,000
Al 215,000
T 548,000
201 Let24E] 16,000 28,000 A 12,000
Al 10,000
T 6,000
01 At 22l 3,000 3,000 0
OUSHANURXNF ALY =& A2F 7Y
1,000, 000& 1,000
Obtsnsiad Nz M 2,000,000& 2,000
03 A2 Z Hl 13,000 25,000 A 12,000
Oltsun=sgsit 24 13,000, 000& 13,000
Al 10,000
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- 3,000
301 LEAZ 2,000 10,000 A 8,000
09 HALAHIX A S 2,000 10,000 A 8,000
Otlsnsegsit 24 2,000,000& 2,000
307 21201 A 80,000 80,000 0
Al 60,000
T 20,000
02 QB AANGFEX 80,000 80,000 0
Os70t2sl wEI3sH XA
4,000,000 204 80,000
Al 60,000
- 20,000
308 XXM SOIA 665,000 630,000 35,000
Al 145,000
T 520,000
08 WHII20HStE X 665,000 630,000 35,000
Ot usesid 192,000, 000& 192,000
OltgusAxZzz0d 29XA
20,000,000& 20,000
Al 10,000
- 10,000
O=s70ts 4748 sl
291,000,000 291,000
Al 127,000
- 164,000
O2st0l=sotel & 47,500,000& 47,500
Al 2,500
- 45,000
OFAad XNdAtsl #Hsotel XI&
18,000, 000& 18,000
Al 3,000
- 15,000
O2t=dELE N 62,500,000 62,500
Al 2,500
- 60,000
OXMOtsAtY 2 XA 34,000, 000& 34,000
EIsH 29 30,255 30,255 0
201 Let24E] 25,640 23,640 2,000
01 At 22l 3,640 3,640 0
ONA DS AE S a2y
0,000& *13H 23| 1,820
ONGNSAULAAS HASS
70,0003 13H 23| 1,820
03 &Ar2 I 22,000 20,000 2,000
OuszsH I=2ds /38 12,000, 000& 12,000
OusgNIT 28 S M= 10,000, 000& 10,000
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301 ety 3,000 5,000 A 2,000
09 S AFA! 3,000 5,000 A 2,000
On= g2 IS 3,000,000& 3,000
Z)ots1= SIAIE 2HE 900,000 0 900,000
g 450,000
- 450,000
(Jta)ets1= SIAIE JISsHH HE 900,000 0 900,000
Fag 450,000
- 450,000
401 Al & H| 900,000 0 900,000
Fag 450,000
5 450,000
01 Al& H| 900,000 0 900,000
Ot& StWSEEISIAIE JIEHH 2HE
900,000, 000& 900,000
g 450,000
- 450,000
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